=
H & 0o & AF S A A
2022 =A 2 5 LEHSIH R
SH: R
FH: XNLMHES IFH S8 2Y
chel A A2 HEH KX CEERED)
2A-F3H-H2A(3) - MY - BES Of] Ak I & Hl w&z2
M 2 2t 75,761,407 73,647,218 2,114,189
= 210,919 198, 159 12,760
s 687,000 687,000 0
< 378,898 351,303 27,595
= 74,484,590 72,410,756 2,073,834
NgEHE N=x=H =88 2g 13,335,100 12,545,532 789,568
= 83,397 83,397 0
= 687,000 687,000 0
< 126,000 100,000 26,000
= 12,438,703 11,675,135 763,568
Azel BEL KA 473,727 464,727 9,000
A2 20,871 19,871 1,000
201 L2l 15,871 14,871 1,000
01 At &2l bl 12,787 11,787 1,000
O XN=3sEYAHE M2 1,880 880 1,000
H ek zte| 35,552 27,552 8,000
201 L2l 31,552 27,552 4,000
01 At 2t 2|l 14,080 10,080 4,000
O GBYEOE =2 25,000& *34021 8,500 4,500 4,000
405 XHoHF S HI 4,000 0 4,000
01 AL ESHSH 4,000 0 4,000
O HAFESIHAIAE AMH 2
4,000,000 =14 4,000 0 4,000
= SEMA & FHAr2el 12,211,413 11,456,845 754,568
= 687,000 687,000 0
= 100,000 100,000 0
= 11,424,413 10,669,845 754,568
e FAF 22 3,074,593 2,320,025 754,568
201 B2l 1,373,475 1,341,975 31,500
01 At 2t 2|l 210,020 178,520 31,500
O 2RFEANSRA HdTX HAS HA A= 1,500 0 1,500
O ZEEN OE OlAHIE 30,000 0 30,000
202 odl 3,500 5,000 A 1,500
01 = LH 4 B 3,500 5,000 A 1,500
O 2FNSRA LXK A&
70,000 x25F »2 3,500 5,000 A 1,500
401 Al I 20 HI 782,400 155,400 627,000
01 Al &bl 782,400 155,400 627,000
O A 212 HESHI(2F L dooR)
100,000, 000 & * 1A 100,000 50,000 50,000
O 28 2 14 8 ZZE2E ME &X 500,000 0 500,000
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SN WP
HE: NYWHS HEH - S8 29
SRl 2 - ZRMN L FAB2 CERED
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
O JRoIASL: Zad0 of Belgax
10,000, 00021 * 14! 10,000 0 10,000
O PHBARL SZA L AT B4
22,000,000 *14! 22,000 0 22,000
O HEHARL BA C4 U 24 Y43
15,000, 00021 * 14! 15,000 0 15,000
O HSPANDRL SF B2BA
13,000, 00021 * 14! 13,000 0 13,000
O &5t8 HA 32 FH L 25 HFA F5
ERS 10,000, 00021 * 14! 10,000 0 10,000
O BUBAIRA QU4 FUIZAM
7,000,0008! *14] 7,000 0 7,000
405 ThaH3 St 910,348 812,780 97,568
01 T 2B S 910,348 812,780 97,568
O Y98 23 Y(2F ¥ 45IIR)
130,000, 0002 * 14! 130,000 50,000 80,000
O ¢ HAXZ 72 110,684,0002 «1CH 110,684 101,900 8,784
O &fot®t BAXZ 7Y 110,684,002 «1CH 110,684 101,900 8,784
HMEXgA 22 2 Mo+ S0 189,139 163,139 26,000
= 26,000 0 26,000
= 163,139 163,139 0
KA S 23 A 26,000 0 26,000
= 26,000 0 26,000
201 et A H| 26,000 0 26,000
= 26,000 0 26,000
01 At 22l i 26,000 0 26,000
O NYHMSSR 4 AH2As DS 15,400 0 15,400
< 15,400 0 15,400
O HMLH F4 =T 28 ARSE 29 10,600 0 10,600
= 10,600 0 10,600
HEES (2D 36 0 36
SEXE 36 0 36
ot &3] Ef 36 0 36
802 BH&t 2 J| Ef 36 0 36
NEFEEEEETE] 36 0 36
O 2021 HEFLBAINHEA OIR BHy 36 0 36
HH2SIAU (LD 62,426,271 61,101,686 1,324,585
2 127,522 114,762 12,760
= 252,898 251,303 1,595
2 62,045,851 60,735,621 1,310,230
o2 HY (E) 62,306,796 60,982,211 1,324,585
2 127,522 114,762 12,760
= 252,898 251,303 1,595
2 61,926,376 60,616, 146 1,310,230
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2N
X ZH -
L= B

el

o >
= &=

e

Juox {0
H0 HO &

02 02
40
(S

=

& o
—~a

Of

2A-F3H-H2A(3) - MY - BES Of] Ak I & Hns2Z
dA29H|(5Z) 62,122,621 60,814,836 1,307,785
[ 238,543 238,543 0
= 61,884,078 60,576,293 1,307,785
101 Q1244 60,436,141 59,222,436 1,213,705
< 238,543 238,543 0
2 60,197,598 58,983,893 1,213,705
01 22 46,133,930 45,908,653 225,277
O Azte2esg(a2d0idl 0IXS3) 3,290,179 3,233,627 56,552
-63 12,321 %84S x50 A| 2t x 128 620,979 611,050 9,929
-73 11,1302 x 166 *50 Al 2t 128 1,108,548 1,090,820 17,728
-82 9,992 167 50 A 2t x 128 1,001,199 985, 167 16,032
-93 9, 1602 «61%H *50A| 2t x 128 335,256 325,265 9,991
-~ XS AH215 20/ 4)
11,619 %14 50 A 2t 128 97,600 96,038 1,562
- X AH20E 20| 5})
10,8882 x6% *50A| 2t 12 39,197 38,571 626
- QA 11,876 6% *50A| 2t 12 42,754 42,070 684
O Azte22axa(20idl X3) 1,666,594 1,637,358 29,236
-63 12,321 %80 45 A 2t + 128 532,268 523,757 8,511
-73 11,130 %82 45 A 2t x 128 492,837 484,955 7,882
-83 9,992 «59H *45A| 2« 12 318,346 313,248 5,098
-93 9, 1609 43 #45A| 2+ 12 212,696 206, 357 6,339
- XNEA(215 20/ 4)
11,619 %14 45 A 2t x 128 87,840 86,434 1,406
O ARREMN AlZt2ag 273,265 268,955 4,310
—HEFEYSE A2 11,130 2B *17AI 2H+7 L 2,649 2,607 42
-1.28% 28, 24 UM
11,1302 %3 %30 Al 2t x 12 12,021 11,829 192
—HARSAERY, 224 FEHIA
11,130 %2 H #17 Al 2t 12 4,542 4,469 73
-Z2HER JE2EgY
11,1302 * 1 *17 Al 2t 12 2,271 2,235 36
—DEZ HAX 11,1302 *6H*17AI 2+ 12 13,624 13,406 218
-HEAE S 11,1302 *6H *17 Al 2t 12 13,624 13,406 218
- MEHY 22X
11, 1302 *32H *BAl 2+ 40 113,972 112,149 1,823
2oy 22 5
11, 1309 »40% *20 Al 2 12 106,848 105, 140 1,708
O g§4224+g 89,4659 x16% x622 x101.4% 89,992 88,553 1,439
O |Sogasg 1,500,000 37 «12& 666,000 532,800 133,200
O Hazess 17,880 17,340 540
—HEARA 80,0002 «3% »12& 2,880 2,340 540
02 JIEFE 2 % 2,567,625 2,527,205 40,420
O 304014 (3158)
4,270, 1002 x3% x 122 x101. 4% 155,876 153,383 2,493
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M WEB
A HH2IAL(WRD)
Sel: o2y (5R) (EH9l:®e)
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
O 23=-~304 012 (255 =)
3,789, 100! *3% * 128 *101.4% 138,318 132,718 5,600
O 154 0I8H(105 )
2,763,0009! *25% * 128 *101.4% 840,505 827,059 13,446
O Z24¢ 134,304,800 *50%+23| 134,305 132,451 1,854
O ANAg22se 262,294 258, 159 4,135
- 30014 12, 1199 «3Z «50 Al 2+ 12 21,815 21,465 350
~23E~30E DI BF 11,2722 +32 +50A| 2t 122 20,290 19,966 324
—15~231 01 BF 10,2472 #1284 *50A| 2t » 128 73,779 72,598 1,181
~ 151 0] 2t 9,52321 25 50 Al 2t %122 142,845 140,565 2,280
O BU2LR4Y 76,5502 24 532 +101. 4% 98,735 93,228 5,507
O HSLEHI(IA,ES)
165,000 * 128 128 23,760 22,320 1,440
O =z ZHl 15,0002 +31 128 57,660 53,940 3,720
O Y=EIH 134,304, 8002 *60%+*25] 161,166 158,941 2,225
03 BRI(RIHY)2ERE 4 11,734,586 10,786,578 948,008
O 80/ 3,401,053 3,180,989 220,064
-JI=22(1652)  2,907,6202+61% <122 2,128,378 2,020,891 107,487
-y322y 2,907,620 612 x50%+23| 177,365 168,408 8,957
A E EE RN 398,820 375,360 23,460
(120A12+) 25,5002 *5% %120 Al 2+ 15,300 14,400 900
(240A124) 25,500 * 142 x240 Al 2 85,680 80,640 5,040
(260A12+) 25,500 *42 %260A| 2+ 26,520 24,960 1,560
(280A12) 25,5008 *38% *280Al 2t 271,320 255,360 15,960
—olMAy 0 109,800 109,800
-Bysg 2000002 *61 * 128 146,400 7,200 139,200
-~ B2 4Y(5014) 50,0008 +9% <122 5,400 0 5,400
- HI2HLY(1040/4)
60,0002 *9% » 128 6,480 0 6,480
-HIDHLY (154900 4)
80,0002 *24% x 122 23,040 0 23,040
-HI2H4Y(204 014)
100,0002 %10 128 12,000 0 12,000
—FIBESY JHAZ(20E0/4)
10,0008 +9 128 1,080 0 1,080
SBI2H4Y IS (25H0/14)
30,0009 124 * 122 360 0 360
-Bigay 50,0002 4% » 128 2,400 0 2,400
O E242 599,195 537,992 61,203
-Jl=3 2,579,6202 1% « 122 340,510 330,589 9,921
< 238,543 238,543 0
= 101,967 92,046 9,921
- 403 2,579,620 * 11 x50%+23 28,376 27,550 826
- moug Ay 140,0002 +1124 %123 18,480 17,160 1,320
- 100,0002 + 11 122 13,200 0 13,200
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A 2D
B HHSIHY (W2 D)
SHel: Q2 Y (5T) EEREED
SN HH - (EH) - HRAY - BES 0l &k o4 p/E-T Hl DS 2
-d2=+ 2,579,620 * 118 x50%=*23] 28,376 0 28,376
- &2+ (5404 50,000+«3E «12& 1,800 0 1,800
- HII2S4L(1020/4)
60,0003 x8H x 12 5,760 0 5,760
O MAXAEN &2 49,637 48,999 638
-Jleg(6Bss) 2,371,620 1~ 122 28,460 27,942 518
- A Z Al 140,000 »1& « 122 1,680 1,560 120
O ENG JtOiict 1= 54,410 50,169 4,241
-J22(1ss) 2,527,620 x1H «12& 30,332 29,526 806
-d0= 2,527,620 18 »50%*23] 2,528 2,461 67
- A ZAH 140,000 18 x12& 1,680 1,560 120
-d2=+g 2,527,620% 18 «50%*23] 2,528 0 2,528
- HII2EAS(102014)
60,0003 x1Z 128 720 0 720
O gets g (d3ad 8) 3,867,863 3,536,129 331,734
-J122(1088) 2,301,620 +84H 1201 & 2,320,033 2,256,368 63,665
-d0= 2,301,620 »84H x50%+*23| 193,337 188,031 5,306
-dd+g 270,000& 11H ~12& 35,640 13,200 22,440
- sAtl 140,000 84 »12& 141,120 131,040 10,080
—NAADR A (A Y TURANT)
18,495%4A] 2tx 12 0 666 0 666
- FIIDELS(5H014)
50,0003 x29H «12& 17,400 0 17,400
- FII2EAS(104014)
60,0002 x19H x 12 13,680 0 13,680
- FIIDEAS(15H014)
80,000& x2H » 12 1,920 0 1,920
- I D& (20H014)
100,000 2 123 2,400 0 2,400
—FIITE4Y DB (20E01)
10,0003 »2H «12& 240 0 240
-d2+4 2,301,620 +84H x50%*23] 193,337 0 193,337
-gtEsg 50,0003 x1H »12& 600 0 600
O HE3AEXZA 212,916 197,481 15,435
-JI22(858) 2,249,620 «5F «12& 134,978 131,668 3,310
-d0= 2,249,620 58 x50%*23| 11,249 10,973 276
~ Al2t2l 2242 (20A12)
19,2403 20 Al 2t+5H 128 23,088 23,088 0
- A Z Al 140,000& 5 122 8,400 7,800 600
-d2+¢ 2,249,620%58 x50%*23| 11,249 0 11,249
O geta3 1,989,547 1,815,547 174,000
-Jles2ss) 2,253,620 47 128 1,271,042 1,230,908 40,134
-—d0= 2,253,620 +47H x50%*23] 105,921 102,576 3,345
- A ZAH 140,000 ~47E 122 78,960 73,320 5,640

- 295 -




SN R D
o HI2AAH (WD)
SR HEEETICED (29l & 2)
SN HH - (EH) - HRAY - BES 0] &b 2 p/E-T Hl DS 2
—E25+2 (5801 4)
50,0002 +13% 1274 B 7,800 0 7,800
- BII254Y(1040/4)
60,0002 +11% #1274 B 7,920 0 7,920
- BII2H4Y(15H0/4)
80,0002 +2% * 1204 B 1,920 0 1,920
- BI254H(20:0/4)
1000002 1241224 & 1,200 0 1,200
~BIDEEIINB (20401 4)
10,0002 *1% 1274 B 120 0 120
-F3a+g 2,253,620 %47 *50%+23] 105,921 0 105,921
O 1,496,557 1,355,864 140,693
-J123(952) 2,225,620%+32% + 122 854,639 831,921 22,718
- 4013 2,225,620 *32% *50%+23] 71,220 67. 161 4,059
-FY2R4Y(A2Y £F)
19,6802 *11AI 2H+4% 302 25,978 6,200 19,778
- ZAZ A 140,000 +312 » 128 52,080 48,360 3,720
-HeLg 60,0002 +332) * 122 23,760 7,280 6.480
~HRLG(AAE) 0 10,800 A10,800
-TYUAG(AAT) 27000087128 22,680 7,200 15,480
~ LG (A2AT) 50,0002 0% 0 2,400 £2,400
N2 R A (A HARANET)
19,9652 +4A| 2H+22 92 1,438 0 1,438
-F3a+g 2,225,620+328 50%+23] 71,220 0 71,220
-ZIl2E42(5H01)
50,0002 * 142 122 8.400 0 8,400
— O EAG(A2AE) 50,0008 *1% +122 600 0 600
204 X2+ A 1,686,480 1,592,400 9,080
02 Mg EH 1,686,480 1,592,400 9,080
O 62 175,000 *164% + 128 344,400 324,720 19,680
O 73 165,000 *250% * 122 495,000 465,000 30,000
O 893 55,0002 *328% + 122 610,080 570,720 39,360
O NSA(BSZ014) 1750002 +36% «128 75,600 71,280 4,320
O ¢TA 75,0002 62 122 2,600 1,880 720
HEBAIONZ SAMY(BLE 0I21t]) 40,625 39,775 850
2 2,682 2,682 0
2 27,943 27,003 850
101 9121 bl 36,309 35,459 850
2 1,847 11,847 0
2 24,462 23,612 850
03 BRX(RIANH)2ZX24 36.309 35,459 850
O 324¥ 424, 72021 %1% %23 850 0 850
OsEsHLRE N 143,550 127,600 15,950
2 114,840 102,080 12,760
= 14,355 12,760 1,595
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2N
X ZH -
L= B

el

>
T =

ol
Juox {0
H0 HO &
02 02

—

W =
— 0
&

& o
—~a

re
Ot

SN SAGEA) - MRALY - BES 0l &k o4 0% o Hl D&

o 14,355 12,760 1,595

101 1Al 143,550 127,600 15,950
= 114,840 102,080 12,760

& 14,355 12,760 1,595

s 14,355 12,760 1,595

01 2= 143,550 127,600 15,950

O sSE23HEA XA

31,900,000 x4 +7,975,000& 2H 143,550 127,600 15,950

= 114,840 102,080 12,760

=) 14,355 12,760 1,595

e 14,355 12,760 1,595
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